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6. Scientists also needed to find living relatives of Tsar Nicholas II, who was descended from Louise of Hess-Cassel. Use the pedigree in Figure 3 to trace the tsar’s descent.
7. Scientists identified two living descendants of Louise of Hess-Cassel who might be candidates for a DNA comparison—James Carnegie and Countess Xenia. Use Figure 3 to trace the descent of James Carnegie from Louise of Hess-Cassel.
8. Use Figure 3 to trace the descent of Countess Xenia from Louise of Hess-Cassel.
9. Based on your findings in Steps 5–7, what is the relationship between James Carnegie and Tsar Nicholas II? What is the relationship between Countess Xenia and Tsar Nicholas II?
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Figure 3 Some descendants of Louise of Hess-Cassel
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Analyze and Conclude

1. Analyze Data Table 2 lists the age and sex of each Romanov family member and their servants at the time of their deaths. The exact ages of the servants are not known. Compare the data in Table 2 with the data in Table 1. Who are the possible candidates for the two missing skeletons, and why?

	Table 2

	Female
	Age
	Male
	Age

	Tsarina
	46
	Tsar
	50

	Olga
	22
	Alexei
	14

	Tatiana
	21
	Doctor
	Adult

	Maria
	19
	Servant
	Adult

	Anastasia
	17
	Servant
	Adult

	Nurse
	Adult
	
	


2. Draw Conclusions Could the mitochondrial DNA of either James Carnegie or Countess Xenia be used to try to identify the skeleton of Tsar Nicholas? Explain your answer.

3. Apply Concepts Forensic scientists think they know the identity of a skeleton. What rule should they use to select a relative whose DNA could be used to try to confirm the identity?
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4. Infer When mitochondrial DNA from living relatives was compared with mitochondrial DNA from the skeletons, scientists determined that skeletons 3, 4, 5, 6, and 7 were members of the Romanov family. Which of these skeletons can be identified by name based on the evidence you have? Explain your answer.

5. Predict Queen Elizabeth and Prince Philip have four children. Would these offspring have been a useful source of DNA for identifying the Romanov skeletons? Why or why not?

Extend Your Inquiry

In 1920, before the discovery of DNA, a factory worker named Anna Anderson claimed to be Anastasia Romanov. Do research to find out what evidence Anna Anderson used to back up her claim. After Anna’s death, how did scientists investigate her claim?
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